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QUESTION 1

What is the decimal equivalent of 0.33%? 

A. 33.0 

B. 0.0033 

C. 0.033 

D. 0.33 

Correct Answer: B 

 

QUESTION 2

What is the missing number in the sequence? 4, 6, 10, 18, ___, 66. 

A.45 

B. 34 

C. 54 

D. 22 

Correct Answer: B 

 

QUESTION 3

Convert 250 centimeters to kilometers. 

A. 0.0025 km 

B. 0.025 km 

C. 0.250 km 

D. 2.50 km 

Correct Answer: A 

 

QUESTION 4

Pete, Dan, and Carlyle had to dig a 2-foot deep trench to run conduit to their garage so they could wire it for electricity.
To share the work, each agreed to dig 1/3 of the way from the house to the garage. Dan went first and dug 1/9 of the
total distance early the next morning. 

What fraction of the total amount of work did Dan still need to complete? 
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A. 2/3 

B. 2/9 

C. 3/9 

D. 8/9 

Correct Answer: B 

 

QUESTION 5

Express 48 square centimeters in square meters. 

A. 4800 square meters 

B. 0.48 square meters 

C. 0.0048 square meters 

D. 0.048 square meters 

Correct Answer: C 
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